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Number series Quiz 58
Directions : What will come in place of question mark (?) in the following series?

1. 13 15 21 33 53 ?

A.81 B. 82 C.83 D.92 E. 102

2. 2 4 12 60 420 ?

A. 4020 B. 4620 C. 4540 D. 4650 E. 3760

3. 9 13 22 36 55 ?

A.79 B.74 C. 80 D.93 E.94

4. 7 13 25 49 97 ?

A.178 B. 188 C.191 D. 193 E. 203

5. 50 67 33 8 16 ?

A.101 B.121 C.99 D.9%4 E. 108

6. 600 298 294 433 850 ?

A. 2060 B. 2093 C. 2428 D. 2629 E. 2832

1. 24 25 84 445 3164 ?

A. 25625 B. 27450 C. 28557 D. 30232 E. 24620

8. 16 19 27 42 66 ?

A.92 B. 96 C.98 D. 101 E. 104

9. 450 448 457 429 494 ?

A.512 B. 488 C.528 D. 504 E. 368

10. 4914 3376 2198 ? 730 344

A. 1332 B. 1265 C. 1331 D. 1121 E. 1158




Correct Answers:

1 2 3 4 5 6 7 8 10
C B A D A B C D A
Explanations:
1.
Series Pattern Given Series
13 13
13+1°+1 15
15+2%+2 21
21+3%+3 33
33+4%°+4 53
53+5%+5 83 v/
Hence, option (C) is correct.
2.
Series Pattern  Given Series
2 2
2x%x2 4
4x3 12
12 x5 60
60 x 7 420
420 x 11 4620 e
Hence, option (B) is correct.
3.

Series Pattern:
Series| :9 13 22 36 55 79
Seriesll : +4 +9 +14 +19 +24

Series Il : +5 +5 +5 +5

Hence, option (A) is correct.
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Series Pattern  Given Series

7 7
7x2-1 13
13x2-1 25
25x2-1 49
49x2-1 97
97x2-1 193 v

Hence, option (D) is correct.

5.
Series Pattern  Given Series
50 50
50+17 67
67 —-34 33
33+51 84
84 — 68 16
16 + 85 101 Ve
Hence, option (A) is correct.
6.
Series Pattern  Given Series
600 600
600x0.5-2 298
298 x1-4 294
294 x1.5-8 433
433 x2-16 850
850x%x2.5-32 2093 e
Hence, option (B) is correct.
07.
Series Pattern Given Series
24 24
24 x1 +1? 25
25 x 3 + 32 84
84 x 5 + 57 445
445 x 7 + 7* 3164

3164 x9 +9° 28557 v

Hence, option (C) is correct.




Series Pattern Given Series

16 16
16+1x3 19
19+2x4 27
27+3 x5 42
42 +4 x6 66
66 +5x7 101 4

Hence, option (D) is correct.

9.
Series Pattern Given Series
450 450
450-(1+1°) 448
448 + (1 +2°) 457
457 - (1+3%) 429
429 + (1 +4%) 494
494 - (1 +5%) 368 v
Hence, option (E) is correct.
10.
Series Pattern Given Series
(17)*+1 4914
(15)° + 1 3376
(13)*+1 2198
(11 +1 1332 v
(93 +1 730
(7) +1 344

Hence, option (A) is correct.
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